Apartment in Luqa



Luqa, South



€319,000

Total Rooms: 6

Bathrooms: 1

Reference No: 240271051-11



Floor Area (m²) : 84

Bedrooms: 3

Apartment - For Sale - Luqa

LUQA - APARTMENT - Located at the heart of this town, within UCA area, and set in a small block of just two units. The property comprises of a combined Kitchen/Living area, 3 Bedrooms, a main Bathroom, a front Balcony, and a back Terrace, ideal for relaxation or entertaining. Additional amenities include a Washroom and part ownership of Roof. Freehold

Features

- Ceramic Floor
- Water Utility
- 🗸 Wi-Fi
- Air Space

Rooms

- Kitchen/Dining : 3.9 x 6 m (23.4 m2)
- Double Bedroom : 4 x 3.09 m (12.36 m2)
- Double Bedroom : 4 x 3.09 m (12.36 m2)
- Double Bedroom : 3.7 x 4 m (14.8 m2)
- Laundry : 2.6 x 2.04 m (5.3 m2)
- Hallway : 7.45 x 1.5 m (11.18 m2)
- Bathroom : 6.44 x 2.78 m (17.9 m2)
- Open Space : 2.8 x 0.5 m (1.4 m2)
- Open Space : 1.63 x 6.44 m (10.5 m2)

- Entrance Hall
- A/C
- Terrace
- Balcony

Gallery

























Rick Harrington RE/MAX South - Marsascala

M: 79404149 E: rick@remax.com.mt T: 21555000

RE/MAX South - Marsascala 60,Triq is-Salini, Marsascala, Malta